1 B HiER IR

2915168 (A)
EERTILT{EZER
JE L K % NET HDCP TOTAL ouT IN OUT NET
& B fMEHE 65.0 21.0 86 ( 42 44 ) 315
26 EMBB= 67.0 17.0 84 ( 43 41 ) 345
3 At 70.0 30.0 100 (51 49 ) 36.0
M — 71.0 26.0 97 ( 48 49 ) 350
S IR/ B 72.0 21.0 93 (48 45 ) 375
106 BBA fE— 77.0 15.0 92 ( 46 46 ) 385
BBE FIE & 85.0 30.0 115 ( 56 59 ) 410

BGE LM #EIE 83 ( 43 40 )
Par 72 J—XL—hk 20—JL—k

BiH(E) 6,606 vyard 71.3 128

Bi(B) 6,237 yard 69.5 123

Bi(&) 5892  vard 68.1 119

Bi(FR) 5281  vard 64.9 114

i (FR) 5,281  yard 70.1 123

k) 5,185  yard 69.5 123




